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laftroar eita: 30

[Maximum Marks :30

sb : (i)

Note:

(ii)

-\ 1. fiTq ii t st{ {r ftt{r slzr Fs-{q'i +
tr(rfi eildrtz
(a) LXI rP, data

o) MOVM,T
(c) AN[, data

(d) LDA 2400

z. frH it t tqr oY+ qT 3r{i{r t ffi
f{E{t({ t qrq 808s i5T qtt S d'r
qqrkd +et *m t t

Which of the following instruction

does not belong to data transfer

group ?

(a) LXI rp, data

(b) MOV M, r
(c) ANI, data

(d) LDA 2400

Execution of which of the following
instruction does not affect any flag of
8085 ?

l.

(a) DCR r
(c) DCX rP

o) ADDM
(d) ORI data

(a) DCR r
(c) DCX rP

o) ADDM
(d) ORI data

3. LXI SP, AOFO rrfi{r +t qar tqft qiT

*tz
(a) {fua{
(b) EmRc
(c) s(tE
(d) {fiilgtflgt€

3. Name the addressing mode for the

instruction LXI SP, AOFO

(a) Register

(b) Immediate

(c) Direct

(d) Register Indirect
P-T.O'
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4.

5.

8.

9.

so85 cr{#t*Sw ii
+tt z

qle w fu-tri fl{c

o) 16

(d) 32

(a)

(c)

8

20

6.

8086 qrr*irfrScr{ it ss t wr ars4 t I
(a) tsfr€t rru
(b) nrqlt'rqu
(c) +*.trrs€
(d) iirqa trrrc

gsg5 q-{mtfr+s{ if em ri*a t wr

arer4 t r
(a) qiq dq {f-ffi
(b) qfurqkodFffiqk+Nm

(c) \ri€ d{dT +dd
(d) qlqrrcfa,'dfur{*+vq

sr{ivr cafl 2o4o ffi qr5c m ergtvt

tr
rrs' o) qi

#{ (d) sR

8o8s qr{#ifr+s{ *. m fiTq ii t ot{
qr +fiw*q{{€{qt r

(a) RSr s.s (b) RsT 6

(c) RST 7.5 (d) Trap

frqCtfus{rWe{qqcrrsfrwt:

7.

(a)

(c)

(a) RoM

(c) DRAM

o) SRAM

(d) PROM

(2) 2035

In 8085 microprocessor, the address

bus is of how many bits ?

(b) 16

(d) 32

What do you mean bY SS in 8086 ?

(a) Service segment

(b) Sign segment

(c) Stack segment

(d) Single segrnent

What do you mean by ALE signal in

8085 ?

(a) Address latch enable

(b) Arithmetic [ogic execution

(c) Address level enable

(d) Arithmetic logic extension

Recognize number of bytes for Call

2040 instruction ?

4.

(a) 8

(c) 20

5.

7.

8.

9.

(a) One

(c) Three

(b) Two

(d) Four

(b) SRAM

(d) PROM

For 8085 which of the following is a

software intemrpt ?

(a) RST s.s (b) RsT 6

(c) RST 7.s (d) Trap

Which among the following has least

access time ?

(a) RoM

(c) DRAM
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lo. qtr 20 kc +1 qgq qs t ffi rTfr

ermr+ig}s o,,rsd t t
(a) 64 KB (b) I MB

(c) 64 MB (d) 1 GB

11. 3TrR A = 56; CY : 1; d er1fu P6
+ fitqrfi * slE A *{ cY 6r ,6rrqK

cH flr Etn r

(a) A: AC; CY:0

O) A:AD; CY:0
(c) A: AC; CY: I
(d) A: AD; CY :1

12. oTrR 8255 Vo +6 it sr4 s{ Tdr t d
fqtr d t 6ta {r +l'*+z it mr{ qr

SEFilT I ?

(a) qt e
(b) dt s
(c) *t c
(d) dii *t'(A,B,c)

13. frq it t sh {IT ilEr qrs*iilClrt *.r {f,
rereI el
(a) {dT+,qa
(b) qH
(c) +.d€$ra

(d) q.qnl (ALU)

14. 8085 { Frtq + s{Fflkd mq ii trq it

t +t{ qr {d{qs{t sc{t t

(a) INTR (b) TraP

(c) RST 7's (d) Rsr 6's

2035

A 20 bit address bus allows acc€ss to

a memory of caPacitY

(a) 64 KB (b) 1 MB

(c) 64 MB (d) 1 GB

If A:56; CY: 1;What is the value

of A and CY resPectivelY after

execution of the instruction RLC ?

(a) A: AC; CY:0

O) A=AD;CY=0

(c) A = AC; CY: I

(d) A: AD; CY:1

In 8255 for VO mode of oPeration

which port oPerators in mode 2 ?

(a) PortA

(b) Port B

(c) PortC

(d) All the three Ports (A,B,C)

Which of the following is not the

basic element of the microprocessor ?

(a) Register araY

O) Memory

(c) Control Unit

(d) ALU

For 8085 intemrPt, which one has

highest priosity:rmong the following :

(a) INTR G) TraP

(c) RST 7.s (d) RST 6's

P.T.O.

(3)

10.

11.

12.
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14.
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ls. 8086 rTtr*tfrts{ +} to kc *ts{ Fit

*,ait t
(a) goso s11'guvt tO fqedt r

(b) aoso si sra q{T 16 fl+c +1 t t

(c) aoso st ALU lFrc ro fua+1t r

(d) @) e (c) *if

16. frq ii t s+{ fr
tfrfd{tuc qnftrt r

(a) 82s5

(c) 82s7

IC *srtqm f^zlz

8253

8259

P.s.w. frm*tili rt ea.rqr t r
(a) A cltTtdqri+T+.

O) s skr
(c) A dstt IR

(d) D Hqr E

RST 7.s sqz qrq *i cr kq qt{ q{

difr.r +fr t, q'6 iFn qrorfr t r
(a) +€{Ht+flr

(b) ISS (qr+.\r(.\r€.)

(c) (a) mn (b)

(d) Bc{qd { t qtg 
=16T

I KB qh fuq +r qf<q qtq perrH

tdfuqo.rwrc('iswrdrn r

(a) F8l7 O) FF70

(c) F800 (d) 08,10

o)
(d)

17.

18.

r9.

(4) 2035

Why 8086 microprocessor is called a

16 bit processor ?

(a) 8086 has 16 bit address bus

O) 8086 has 16 bit data bus

(c) 8086 has 16 bit ALU unit

(d) Both (b) and (c)

Which of the following IC represents

programmable intemrpt conholler ?

(a) 82ss O) 82s3

(c) 82s7 (d) 82se

The term P.S.W. refers to

(a) A and flag register

O) HandL

(c) A andIR

(d) D and E

The address to which RST 7.5

interrupt branches is known as

(a) vector location

(b) rss

(c) (a) and (b)

(d) None of these

The manory address of last location

of I KB mernory chip is FBFFH,

what is the address of the first

location ?

(a) F817 (b) FF70

(c) F800 (d) 0840

15.

16.

17.

18.

19.

.'}'
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zo. t{rr n t 6t{ sr {iam 8o8s ii eq
sr-firkq or riim t t

(a) INTA

(c) INTR

(b) INTA

(d) INrR

yo tB Yo e1c + oiil'i-ir soSs +

mer arftrmq ffi Yo gk gz{its st
qr s+*t t
(a) 128 (b) 2s6

(c) 64 (d) 1024

8o8s ii tm qr it tR {.*d sr *{ so

q;16qqpHFI qrfrtn t
(a) 00 (b)

(c) 10 (d)

srrR PC (*trH sRie0 $t qFT 2050 t
d '?rft{r Jmp 1o8o + ftqfi *'HE
PC ir, cH Hr d,n r

(a) 20s0 (b)

(c) 1080 (d)

8o8s ii frq t *{ + e+qnq *
Wretsrymo.rfitt
(a) ADD A (b) LxI2s00

(c) MVI &2s (d) DAA

t+{ C t +ir t sr{ArT + f{qE{ if Io
rtsqqt e{rdr t t
(a) MOV M, B

o) our 20

(c) IN s0

(d) Mov A, M

01

l1

\

t
1

I

t

23.

24.

25.

2053

1083

i

2035

20. In 8085 interrupt acknowledge signal

is represented bY

(a) INrA (b)

(c) INrR (d)

21. The maximum number of VO

devices that can be interfaced with

8085 in VO maPPed VO scheme is

(a) t28
(c) 64

TNTA

(b) 256

(d) t024

23.

24.

25.

ln 8085, what is the value of S, and

So respectivelY in fetch cYcle ?

(a) 00

(c) t0

(b) 01

(d) 11

If the content of PC (Programme

Counter) is equal to 2050. Then

speciry content of PC after instnrction

Jmp 1080 is executed.

(a) 20s0 (b) 20s3

(c) 1080 (d) 1083

In 8085 which instruction uses two

addressing mode ?

(a) ADD A (b) LxI2500

(c) MVI A,25 (d) DAA

Which among the following

instruction uses [O read cycle during

its execution ?

(a) MOV M, B

(b) our 20

(c) IN 50

(d) Mov A, M
P.T.O.

(s)
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26. sHLD 10 cB 3r{kr + trwlfi { 5a
ffiqcflqq* endtt

(a) 02 O) 03

(c) M (d) 0s

27. i-s/rr{eqid +t rffr ffi t t
(a) alfurr

(b) turt

(c) +ffit-s
(d) s{-n it t Bt$ =tE1

28. sTrrr 8255 *s o ii o.rd m<n t 3t{ ctt

eqttBYP+sst{qt}coP
mode ii sr4 6t d fr{irsr vt-q q,t qH

wr frrn t

(a) 80H O) 8eH

(c) ezrr (d) eBH

29. errn A :70; B : 50; d CNrpg +'

firrqrfi *'sK A or qR wr dtn I
(a) 70

(b) s0

(c) 20

(d) q+dt6t$#i

30. frqii t 6Yc Scs kfq{rF{rfr t t

(a) qi€qg

(b) srgtiRI

(c) tffiev
(d) B{tffiiit+tTfi

(6) 2035

26. How many machine cYcles are

required to execute the instruction

SHLD IO CB ?

(a) 02 O) 03

(c) 04 (d) 0s

27. What is the nature of ReadlWrite

memory ?

(a) Volatile

O) Non-Volatile

(c) Read onlY

(d) None of these

28. If 8255 operates in mode 0 with port

A and port B as [/P mode; Port C as

O/P port, then what is the value of

control word ? 'Y

(a) 80H (b) 8eH

(c) e2H (d) e8H

29. If A : 70; B : 50 then what is the

value of A after execution of the

instruction CMPB ?

(a) 70

o) s0

(c) 20

(d) None of these

30. Which of the following bus is

bidirectional ?

(a) Address Bus

O) Data Bus

(c) Control Bus

(d) None of these



cs208

Mftavqq, *<dt1
Time allowed : Three lloursl

Roll No. : .............

2016

MICROPROCESSOR AI\D INTERFACING

\

\

t
t
I

i

alz, O tMvnwalffie; YiqCdfiF€?'cfu#rf,{E?Frd I

Note : Question No. I is compulsory, ahewer any live questions from the remaining'

(ii) vfiowt#€,# '{/,'it 
6l frqe177 q-6 vlq ad o?fuq t

Solve all parts of a question consecutively together'

(ii, vfutw#?d 5udclt;at#fqq r

Start each question on afresh page'

(iv) <hl'rryr.r# d -araraH 4+ ffid sfrqt alap 6l qa * t

only Engtish version is valid in case of difference in both the languages'

1. (i) crr*tct+sr+1qfi16qrf,r I r
What is the concept of Microprocessor ?

(ii) siirr+ts s ffi< qr di t t
What are oPcode and oPerand ?

(iii) A-*t enqwrqqwitt
What do You mean bYT-States ?

(iv) DMA {Itiffi wr anq{ t r
What do You mean bY DMA cYcle ?

(v) 8086 cr{#t*twil qq*n qr{gr EFt tFIt sqdrr t I
what is the use of Instnrction pointer in 8086 Microprocessor ?

2. (i) 8085 cr{ei]frt{T + fiH fr-ql{ fir fu{ ffirfi{ s{F6t qoiq qiitqq t

lwkotrr oiE6.: 70

[Maximum Marks:70

(2x5)

t
t

I

!

\

\
\

Draw and explain the Pin Configuration diagram of 8085 Microprocessor'

(ii) so"*' fi,ilrfr t tqwn u,1 dq * *-gq*i*ffirr ffid*i srsei r

Explain instnrction fonnat according to their instruction length by giving suitable

examples. (6x2\

(71 P.T.O.
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t
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(i) \'ifrFr irs t srFI EFI1 rs€e t r gogs tr@t*is{ * flqnr< \Gk'r cts si qq555Q 
1

What do you mean by Addressing modes ? Explain different addressing modes

in 8085 microprocessor.
(ii) ffi wi +5 $;;6il *edut+* tt t+sqm TT+sf.{ t {qt*rd tTi{ii s} qssst 1

What is Subroutine ? Explain various subroutine related instnrctions in 8085

microprocessor. (6x2)

(i) 808s cr{*i*+s{ { 6n + {'rd{ qr qut{ ft1fuq r fqfim ron +1 ffifr $ lefigq t

Exptain the mernory organisation in 8085 microprocessor system' Also write

various tyPes of memory'
(ii) ift+rd io oqt trt * vo + srnr si qr*r+t r

Explain the differences between peripheral vo and memory mapped vo.

5. 8o8s crt*t*t{r tt FrE{ e} qrysrgt ,

Explain following in 8085 microprocess'or :

(a) lnstruction cYcle
(b) Mernory read and write cYcle
(c) VO read and write cYcle
(O Interrupt Acknowledge cYcle
(e) Bus Idle cycle
(0 Machine cYcle with wait states

(6x2)

(2x6)

(i) 8085 Frt{r fi{fuqffi {t{s{ e ii :o H e {f{s{ s i[ zo H *sd qrcl aqr E{ q]a}

+t frss-{qrq qRunq 6i {f{s{c it dr+t t

Write 8085 instructions to load Register A with 30 H and Register B with 20 H

(8)

3.

4.

and add them. Store ttre result in Register C-

(ii) iff \q{ 9000H tr{ {atr t+q qq 8-bit ri@r EFt l's complement
qt{unq *++t qis eoor H q{Rtrs{+ +H 808s ftq$ frftsq t

firErei f,sn fiq

7.

8.

Write 8085 instructions to find the l's complement of the 8-bit number stored at

memory location 9000H and store the result at memory location 9001H. (6x2)

(i) fr++i< q ffis{ t oIFI EFII srffe t r sq5ff 3qrfiur 5 qqgr{i t

What do you mean by Encoder and Decoder ? Explain wittr suitable example'

(ii) -rg6, ft1 ffi{ eog6 c1-5*l*ts{ ii qq e tssc qifiT'r il{fu 6i qqsrgi r

Explain Even and Odd addressing techniques with suitable diagram in 8086

microprocessor. (6x2)

frqittffi*tc{qffilaftci:
Write short notes on the following : (Any three)
(i) qrii+tfffiffifihsrl

Demultiplexing of Buses
(ii) 808s +{ffi

Interrupts of 8085
(iii) {t+' 3ffiflT

Stack Operation
(iv) 8086 crE-*ifr+Fr it zo-fqa qdq *.t*

20-bit address generation in 8086 mictoprocessor (4x3)


